ekl — 2

SHTEE BlImiEAEREESE NTREE(XR)
(ER315E4A1B~SM24£3A31H)

IR A DE
(Bifi: M)
K 4 |$HiEEREHE|SNTEETEE| HBuERE wm =
AAEES 216,831 224,880 A 80490 IFIEORIES CERRATBEHEE
Ex 3PN 0 0 0
s 0 0 0
HURA 1 2 A 1| REFIB(R1.819~R2.2.16)
Brus 76,810 76,810 0|- H3o#R %
=L 293,642 301,692 A 8,050
ZHOE
(Bifsz:[)
R 4 |sHnEERredE|sHxsEETEE| =3 wm =
HEE 0 0 0
& 130,420 199,560 A 69,140|- s ER B IRE
AN R U E S 10,240 24,390 A 14,150 ZBRHKIBHE ALY
ZitE 70,950 71,262 A 312|-3R%% 1 BIIRRS—FFEH
EBE 2,832 6,480 A 3,648|-HRAFHH
eusE 79,200 79,200 |- REEEBLEABECOESBRELTRYBT,
=L 293,642 301,692 A 8,050




